ANSWER KEY Exfra Pracfice: 4.5 Simplifying Variable Expressions

Simplify each expression.

1) -8(5 + 5x) - 3(-3x — 4)

~ 0~ f0rT9xt 1
~3Ixv-33

3) 2(9- p)-3(p+4)

1§~ap-3p =1
-5p 16

5) 6(m - 8) - 3(2m - 9)
bm =48 - ,m+37
- Al

7 -7(r+2)-7(1-7)
~7r-14-7+7r
- Al

9) 3(1 + 10r) + 3(10r + 3)

3+30r+30r+9
pOr+ 1

2) -3(6+1)-7(6 + 1)

~3p-3-Tb-7
~]0b-I0

4) -10(10x +3) +3(x - 9)

~100%~30 1+ 3x~A7
~q7x =57

6) -7(-10k + 5) - 10(8 + 2k)
70k - 35 -0 = WK
50k -115

8) 9(8p +6) +8(1-7p)
Top t 5 +8-50P
Jop T by

10) 4(6p-6)-5(p-7)

o~ dt-bp +30
19p +11



